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Activity 1

Part 1: Fill in the parenthesizes for the formula in order to determine the 2006 cohort default rate:





Borrowers who entered repayment & defaulted

2006 Cohort Default Rate = 
on a loan between (     ) & (     )
Borrowers who entered repayment between 

(     ) & (     )

ANSWER KEY

Cohort Default Rate Formula Exercise

Fill in the parenthesizes for the formula in order to determine the 2006 cohort default rate:





Borrowers who entered repayment & defaulted

2006 Cohort Default Rate = 
on a loan between (10/1/2005) & (9/30/2007)

Borrowers who entered repayment between (10/1/2005) & (9/30/2006)

Part 2: Non-Average Rate Example:

School A would like to find out what their cohort default rate is. 

Can you help them?

School A, a degree-granting school, had 90 borrowers enter repayment in the cohort fiscal year. Of those, 8 borrowers defaulted in the cohort default period.  

What is school A’s cohort default rate?      
ANSWER KEY

Non-Average Rate Example:

School A, a degree-granting school, had 90 borrowers enter repayment in the cohort fiscal year (denominator). Of those, 8 borrowers defaulted in the cohort default period (numerator).  

School A’s cohort default rate is calculated by dividing 8 by 90 (8 ÷ 90 = 0.088) and expressing the result (0.088) as a percentage. This produces a non-average cohort default rate of 8.8 percent 
(0.088 x 100 = 8.8).

Part 3: Average Rate Example:

School B would like to find out what their cohort default rate is.

Can you help them?

School B, a degree-granting school, certified loans for the following students: 29 borrowers who entered repayment in the current cohort fiscal year (of whom 2 defaulted in that cohort default period), 44 borrowers who entered repayment in the fiscal year immediately preceding the cohort fiscal year (of whom 7 defaulted in the associated cohort default period), and 50 borrowers who entered repayment in the fiscal year two years prior to the cohort fiscal year (of whom 3 defaulted in the associated cohort default period).

What is school B’s average cohort default rate?      





ANSWER KEY

Average Rate Example:

School B, a degree-granting school, certified loans for the following students: 29 borrowers who entered repayment in the current cohort fiscal year (of whom 2 defaulted in that cohort default period), 44 borrowers who entered repayment in the fiscal year immediately preceding the cohort fiscal year (of whom 7 defaulted in the associated cohort default period), and 50 borrowers who entered repayment in the fiscal year two years prior to the cohort fiscal year (of whom 3 defaulted in the associated cohort default period).

The 123 borrowers (29 + 44 + 50 = 123) who entered repayment in these three fiscal years constitute the denominator. 

The numerator consists of the 12 borrowers (2 + 7 + 3 = 12) who defaulted in the relevant cohort default periods. 

School B’s cohort default rate is calculated by dividing 12 by 123 (12 ÷ 123 = 0.097) and expressing the result (0.097) as a percentage.  This produces an average cohort default rate of 9.7 percent (0.097 x 100 = 9.7).

12 (borrowers defaulted) ÷ 123 (total borrowers in repayment) = 9.7%
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